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BENRE SHCEELAMERBERERAMERTE

£ b R - BARTR Bifg H 2 B & # wm =
BEIEE 516, 194, 954
FAtth s R 507, 134, 279
T (RAthER) 64, 591, 855
T 64, 591, 855
T 64, 591, 855
1 E&EI (D 70, 000. 00 160.5 11, 235, 000
m3
2 EEI(2) 23, 400. 00 264.6 6,191, 640
m3
3 BRARL (1) 18, 900. 00 230. 4 4,354, 560
m3
4 BRIKEEL (2) 3, 400. 00 471. 4 1,602, 760
m3
5 TREER (1) LB~ & 21,010. 00 290.8 6, 109, 708
m3
6 TREER(2) LB & 3,740.00 526 1,967, 240
m3
7 TREER Q) EIER—-LHRES 48, 990. 00 465. 3 22,795, 047
m3
8 THEER 4) EIER—-LRRES 19, 650. 00 526 10, 335, 900
m3
THET 29,787,033
THET 29,787,033
THET 29,787,033
9 HEAI 3, 600. 00 160.5 5717, 800
m3
10 BR{AREL 140. 00 6,131 858, 340
m3




BEARE BHEEEILAMEEBERERAMERTS
% R R - KT By B =B fifl ® % W =

11 EREER () W T B v — 2% + B R 150. 00 290.8 43, 620
m3

12 THEEHK (2) BIB—LtMRES 3, 400. 00 465.3 1,582, 020
m3

13 #AKY-FR (1) BMEEEL V- t=1. Omm 10, 476. 00 1,474 15, 441, 624
m2

14 EKY-Fk (2) BMEEEL 2V~ t=1. Omm 735. 00 2,197 1,614,795
m2

15 EmEEIE (1) TRE. kit 2,660. 00 460. 1 1,223, 866
m2

16 EEEIE (2) T EiE 190. 00 1,380 262, 200
m2

17 ZEER 1) TRE. kit 7,690. 00 887.2 6, 822, 568
m2

18 EZEER (2) TRE. kit 600. 00 2,267 1, 360, 200
m2

HkT 328, 810, 787

BRBEKT 261,024, 577

LT 23, 744, 860

19 KIEY (1) 18, 100. 00 247.6 4,481, 560
m3

20 FRIEY (2) 6, 200. 00 484.6 3,004, 520
m3

21 BRLM WAL, W2=4m 11, 600. 00 488.7 5, 668, 920
m3

22 BRL (2 AL, W2=4m 2.900. 00 853. 2 2,474, 280
m3

23 2R L () FRAE., Im=W<4m 260. 00 1,928 501, 280
m3

24 2R L 4) FRAE. Im=wW<4m 710. 00 5 127 3,640,170
m3

25 TRYEER (1) BIBA—LtRES 1,630. 00 552.5 900, 575
m3




BERNRE SHMeEEIAMEEEERTERAMERTE
£ g I - KT Bify = B & B &

26 TRYEER (2) BI&ER—LTWRES ,030. 00 683. 8 704, 314
m3

27 E@EEIE() ,411.00 460. 1 1,109, 301
m2

28 EMEEIF (2) 913.00 1,380 1,259, 940
m2

HET 23, 423, 865

29 EREMEE ) BEISIvIY IV (R) ,540. 00 2,300 5, 842,000
m3

30 EREMEE(2) BEIIvIYI VW) 923.00 2,900 2,676, 700
m3

31 BEEBEQ) RC-40. Tm=W<4m ,900. 00 1,928 3,663, 200
m3

32 BAREREQ) RC-40, Tm=W<4m 690. 00 5,127 3,537, 630
m3

33 {REH (1) FEIOMLL T GRAL). Im=W<4m 580. 00 1,928 1,118, 240
m3

34 1RE# (2 FEIOMMLL T GRAL). Im=W<4m 290. 00 5,127 1, 486, 830
m3

35 REHM Q) AL T GRAL) . WiZ4m .200. 00 1,020 2.244. 000
m3

36 {REH 1) FFAOMMLL T GRAL). WiZ4m 74000 2,604 1,926, 960
m3

3T VALt AL MERES 5.2t/100m3 % #8 % 5. 8t/100m3LL 239. 00 2,199 525, 561
m3

38 YA ILEAY REA THMRES 240.00 233.1 55, 944
m3

39 VAL A NER THMRES— BT &R 240. 00 552.5 132, 600
m3

40 VALt Ay FEBE YAILEAD b, WIZ4m 210. 00 1,020 214, 200
m3

HKERT 213, 855, 852

4 HMEEA) FRPME (EE) 1.00 160, 778, 618. 00 160, 778, 618




BENRE SHCEELAMERBERERAMERTE

4 [ IR - WAKTiE B B = B & 5 =

42 #HE Q) FRPNE (ZOEE) 1.00 2,815, 813. 00 2,815,813
=%

43 ##E Q) FRPNE (FEOEE) 1.00 2,792, 790. 00 2,792,790
=%

44 #HE 4) FRPNE (GAZE) 1.00 3,323, 420. 00 3,323,420
=

45 ##4% (5) FRPME 2 F 1.00 34, 501, 066. 00 34,501, 066
=

46 FRPMEERE (1) ¢ 600 79.00 2,485.75 196, 374
m

47 FRPMEERE (2) ¢ 600 80. 00 6,432. 50 514, 600
m

48 FRPMEERE (3) ¢ 700 79.00 7,092. 50 560, 307
m

49 FRPMERE (4) ¢ 800 79. 00 2,847.50 224, 952
m

50 FRPMEERE (5) ¢ 800 79. 00 7,420.00 586, 180
m

51 FRPNEERE (6) @900 236. 00 3,035. 00 716, 260
m

52 FRPNEERE (7) @ 1000 231.00 3, 385. 00 781,935
m

53 FRPNEERE (8) 1100 204. 00 3,512.50 716, 550
m

54 FRPNEERE (9) 1100 236. 00 9, 282. 50 2,190, 670
m

55 FRPMEERE (10) ¢ 1200 35. 00 3, 800. 00 133,000
m

56 FRPMEERE (11) ¢ 1350 99. 00 4,032.50 399, 217
m

57 FRPNERE (12) #1350 94. 00 10, 745. 00 1,010, 030
m

58 FRPNEZRE (13) @ 1650 324.00 4, 730. 00 1,532,520
m

59 FRPMEERE (14) ¢ 2000 14. 00 5,825. 00 81,550
m




BEARE BHEEEILAMEEBERERAMERTS
£ g I - KT Bify H =2 B & B &

AT 43, 313, 560

EELT 9,621, 587

60 ERHEY (1) 4,000. 00 247.6 990, 400
m3

61 ERIEY (2) 1, 100. 00 484. 6 533, 060
m3

62 BREL (1) AL, W=4m 2.100. 00 1,020 2,142, 000
m3

63 EBRL (2) FEL. Im=W1<4m 1, 700. 00 1,928 3,277, 600
m3

64 EBREL (3) AL, W=4m 1, 000. 00 2,604 2, 604, 000
m3

65 EMEEIE (1) 78. 00 460. 1 35, 887
m2

66 EMEEI (2) 28.00 1,380 38, 640
m2

AR 33,570, 846

67 MHEE JL—F L&, BEEY 1.00 2, 805, 780. 00 2,805, 780
=

68 EmERA (1) t=20cm RC-40 78. 00 1,616 126, 048
m2

69 EmErR (2 t=20cm RC-40 24.00 3, 587 86, 088
m2

10 HLavyy—REEM) 14.00 4,642 64, 988
m2

nHyLarysy—rELQ 6. 00 13,930 83, 580
m2

72 Lary)— TR0 18-8-40 (F47) W/C 60% 8.00 33,350 266, 800
m3

BHLaYy)—MTED 18-8-40 (F47) W/C 60% 3.00 91,510 274, 530
m3

T4 IR ) — REE) 650. 00 9,222 5,994, 300




BERNRE FHeFEINMEREERERAMERTE
£ g I - KT BfL 8 2 B i £ &
75 RO — FEB(Q2) 220.00 27,670 6,087, 400
m2
76 LAY ) — MTERO) 24-12-20 (547) W/C 55% 96. 00 26, 780 2,570, 830
m3
17 EHEIY ) — MTE(2) 24-12-20 (547) W/C 55% 32.00 71, 200 2,278, 400
m3
78 BUMEEILZIILFTEN) 0. 60 516, 000. 00 309, 600
m3
19 BUNEEILZIILFTIE(2) 0.20 1,071, 000. 00 214,200
m3
80 # T (1) SD345 D13 4.02 173, 800. 00 698, 676
t
81 &I (2) SD345 D16, D19 8.98 171, 700. 00 1,541, 866
t
82 #mH T (3) SD345 D13 1.35 197, 600. 00 266, 760
t
83 #HT (4) SD345 D16, D19 3.74 195, 500. 00 731,170
t
84 JL—FoT&EN) (T-25) 900 x 900/ 17.00 893. 00 15,181
L3¢
8 JL—FUIE Q) (T-25) 900 x 900/ 7.00 1,407.00 9,849
L3¢
86 BimT (1) FRETERERS 1,050. 00 4,555.00 4,782, 750
#m2
87 Bi&HI (2) FRETERERS 330.00 12,100. 00 3,993, 000
#m2
88 XRI (1) N A7 Y - PR 50.00 4,440.00 222, 000
£m3
89 XRI (2) NATHE PR INREE 10. 00 14, 700. 00 147,000
£m3
BFEL 121,127
90 #HE W:TSRY—J&, WEWN® XE 1.00 101, 612. 00 101, 612
=
91 VUEERAT (1) ¢150 =ZO%EE L=0.5m/&K 2.00 530. 50 1,061




BENRE SHCEELAMERBERERAMERTE

£ g g - BAKTE Bify H =2 B ® & =

92 VUE T (2) 6150 =ZO%EE L=0.5m/&K 1.00 1,591.00 1,591
.

93 VUEER{T (3) $200 ZO%EE L=0.5m/& 2.00 620. 50 1,241
.

94 VUEHER{T (4) $250 =ZOMwEE L=0.5m/K 3.00 773.00 2,319
.

95 VUE R (5) $250 ZO%EE L=0.5m/XK 2.00 2,184.00 4,368
.

96 VUEE{T (6) $300 ZO%EE L=0.5m/& 2.00 773.00 1,546
.

97 VUE AT (7) $350 =ZO%EE L=0.5m/XK 1.00 965. 00 965
.

98 VUE Rt (8) ¢400 ZO%EE L=0.5m/XK 1.00 2,742.50 2,742
.

99 VUEER{H (9) $500 =ZO%EE L=0.5m/&K 1.00 3, 682.00 3,682
.

TR ET 22,950, 504

EELT 5,047, 843

100 ERiEY 2, 800. 00 247.6 693, 280
m3

101 BHREL FAL. In=W1<4m 1, 800. 00 1,928 3, 470, 400
m3

102 LREERK BIER—LTWRES 820.00 552.5 453, 050
m3

103 EEEIE 937.00 460. 1 431,113
m2

TR ET 17,902, 661

104 M E TILRE $300. FRANERI° % & 1.00 134, 360. 00 134, 360
=

105 EFERYIFLUOEMEZW) $300 HIE 986. 00 6,045 5,960, 370
m

106 EZERVIFLUOEHREZQD) $300 EIE 203.00 6, 045 1,227,135
m




#m 2

BEARE SHMeEEIAMEEEERTERAMERTE
4 [ I - KT BfL 8 2 B & 5 i

107 7 4 L5 —# 8% HRERA 4230-20mm 927. 00 8,228 7,627, 356
m3

108 M LEFLE< Y b BHA®EA  10mm 9. 8kN/m 2,930. 00 1,008 2,953, 440
m2

ERmT 1,522, 146

LT 289, 444

109 EKiEY 140. 00 247.6 34, 664
m3

110 BRL WAL, Im=WT<4m 130. 00 1,928 250, 640
m3

1M1 EEEE 9.00 460. 1 4,140
m2

ERmT 1,232,702

12 #HE TL—FUIE. BHeY 1.00 310, 860. 00 310, 860
=

13 EHRa t=20cm RC-40 9.00 1,616 14, 544
m2

M4 gLa>yy—rag 3.00 4,642 13,926
m2

15 gLaryy— TH 18-8-40 (F4F) W/C 60% 0.90 33, 350 30,015
m3

116 Bk ) — B 48.00 9,222 442, 656
m2

17 ka5 J— MTEHR 24-12-20 (F47) W/C 55% 6.00 35, 480 212,880
m3

118 $#k&T (1) SD345 D13 0.27 173, 800. 00 46, 926
t

119 /T (2) SD345 D16, D19 0.1 171, 700. 00 18, 887
t

120 S L—F U5 & (T-25) 600 x 600 6.00 893. 00 5, 358
"

121 Bi5T FRETESHHERS 30. 00 4, 555. 00 136, 650




BEARE BHEEEILAMEEBERERAMERTS
£ g g - BAKTE Bify = B & B &

eI 63,611, 647

F—JNLEH rT 50, 993, 214

EELT 4,132,473

122 ##E () BALX®EEL) B) 268.00 1,600 428, 800
m3

123 ##HE (2) BALX®EEL) @ 136. 00 2,200 299, 200
m3

124 ERIEY (1) ,000. 00 247.6 247, 600
m3

125 ERiEY (2) 270.00 484.6 130, 842
m3

126 R L (1) AL, In=WI<4m 200. 00 1,928 385, 600
m3

127 R L (2) AL, In=WI<4m 100. 00 5 127 512, 700
m3

128 R L (3) FELE. In=W1<4m 640. 00 1,928 1,233,920
m3

129 2R L (4) FELE. In=W1<4m 120. 00 5,127 615, 240
m3

130 LRYEEENE (1) BIBR—TWRES 310.00 552.5 171,275
m3

131 £RYEEERR (2) BISR—TWRES 130. 00 683. 8 88, 894
m3

132 EEEIE (1) < > 7—)UBE!, CE!, DE! 28. 00 460. 1 12, 882
m2

133 EMEEIE (2) < UR—JLCE 4.00 1,380 5,520
m2

FBRI 31,380, 145

134 ¥ & ZHME. RKinE 1.00 25,109, 680. 00 25,109, 680
=

135 HERER (1) ZHRE —ME/PT5/AAE 234.00 1,168. 00 273, 312




BEARRE SHGEEILNMESBEREERBERTSE

4 L IR - WAKTiE B B = B {f oo ) S

136 HEREK (2) ZHME —MRE/OT5/6HE 474.00 1, 950. 00 924, 300
m

137 HEBREK Q) ZHMBE —MRE/OT5/IE 45.00 2,539. 00 114, 255
m

138 HEREK 4) ZHME —MRE/OT5/IE 380. 00 7,617.00 2,894, 460
m

139 HEREK B) KinE —HRE/P15/4HE 8.00 350. 75 2,806
&

140 HEREK (6) Kinig —HRE/ O15/6FLE 12.00 585.58 7,026
&

141 BERER () KinE —HRE/ 15/ 9AE 3.00 762. 46 2,287
&

142 HEREK (8) KinE —HRE/ 15/ 9AE 6. 00 2.287.38 13,724
&

143 1BERERR (9) ZHME BHREE/PTH/AAE 113.00 1,941. 00 219, 333
m

144 1BEE (10) ZHME SHREE/OTH/6HE 452.00 2,337.00 1,056, 324
m

145 HERER (11) KinE =EEE/O1S/AHE 2.00 582.88 1,165
&

146 1R ERR (12) KinE BREE/QIS/6HE 8.00 701. 80 5,614
&

147 #this $10x t1.5 2.00 23, 190. 00 46, 380
Gl

148 iR (1) H-14sq 595. 00 560. 00 333, 200
m

149 3R (2) EM-1E8sq 2.00 924. 00 1,848
m

150 $EHhER (3) H-14sq 127.00 1,217.00 154, 559
m

151 B ZH S — (1) W=150 595. 00 269. 00 160, 055
m

152 1BERZH S — (D) W=150 127.00 471.00 59,817
m

T k—ILT 15, 480, 596

10




BENRE SHCEELAMERBERERAMERTE

% R R - BARSTiE BfL % 8 B ® # m o=

153 M & TL¥v R b R—ILBE, CE, DE! 1.00 13, 049, 560. 00 13, 049, 560
=

154 < U R—ILERE (1) B 1.00 520, 800. 00 520, 800
E-S

155 T UR—ILERE (2) CH 4.00 260, 400. 00 1, 041, 600
E-S

156 ¥ U R—ILERE (3) DEY 2.00 173, 600. 00 347, 200
E-S

157 T UR—ILERE (4) CH 1.00 395, 250. 00 395, 250
E-S

158 E#EFA (1) t=15cm RC-40 28.00 1,478 41,384
m2

159 EBE#A (2) t=15cm RC-40 4.00 3,413 13,652
m2

160 HLavo U—FEZ) 3.00 4,642 13,926
m2

161 LYo J— FEE(Q2) 0.40 13,930 5,572
m2

162 HLary )— MTER (D) 18-12-20 (;m%F) W/C 60% 1.00 33,350 33, 350
m3

163 HLary )—MTER Q) 18-12-20 (;m%F) W/C 60% 0.20 91,510 18, 302
m3

HRBANEER T 12,618, 433

FEXT 1,198,712

164 BRiEY (1) FEHHETEIMLT 150. 00 2,097 314,550
m3

165 KHEY (2) FIETIEIMELT 40. 00 5,108 204, 320
m3

166 R L (1) WAL, WI<im 140. 00 2,947 412,580
m3

167 2R L (2) AL, W<im 30. 00 8, 280 248, 400
m3

168 EmEEIE (1) N FR—)LBE, DE! 26.00 460. 1 11,962
m2

11




BENRE SHCEELAMERBERERAMERTE

% g B - KTk B % B B @ * & W =

169 EMEEIE (2) N FR—JLBE, DE! 5.00 1,380 6,900
m2

8 5 T A KT (SALS) 4,094,778

170 #¥ & BHAREATES 1.00 2, 300, 000. 00 2,300, 000
=

1M ERERR t=10cm RC-40 15.00 1,340 20,100
m2

172 BHBREATEESRE 20. 00 36, 630. 00 732, 600
#

173 B e SR 80 B Bk (1) SGP50A 258.00 3,261.00 841,338
m

174 BEEE Rk R E R 2 SGP80A 10. 00 5, 066. 00 50, 660
m

175 #Ehi H-14sq 268. 00 560. 00 150, 080
m

HiE@EIKT (CGL) 5,679, 025

176 #¥ & TEEIATE & 1.00 1, 065, 000. 00 1,065, 000
=

177 &R (1) t=10cm RC-40 4.00 1,340 5, 360
m2

178 ERERAR (2) t=10cm RC-40 3.00 3,239 9,717
m2

179 HLavy)—FE#ZA) 0.70 4,642 3,249
m2

180 LYY J— FEIE(2) 0.50 13,930 6, 965
m2

181 LYy J— MTEO) 18-12-20 (B %) W/C 60% 0.20 27, 400 5,480
m3

182 LY Y — MTE Q) 18-12-20 (B %) W/C 60% 0.10 78, 050 7,805
m3

183 fEEINTEEFRE (1) 3.00 203, 700. 00 611,100
#

184 fEEIKTEEERE (2) 2.00 527, 600. 00 1,055, 200
#

12




BENRE SHCEELAMERBERERAMERTE

£ 5 R - KT Bify B =B ] & % =

185 BE Ak = S8 B 8% (1) SGP50A 416. 00 3,261.00 1,356,576
m

186 E‘E A = S8 B 8% (2) SGP50A 183. 00 5,994.00 1,096, 902
m

187 Hithig (1) H-14sq 416. 00 560. 00 232, 960
m

188 iR (2) H-14sq 183. 00 1,217.00 222,711
m

N> F7R—ILB 1,133,898

189 M #& TLF ¥ X b RR—ILBE (#EM) 1.00 830, 000. 00 830, 000
=

190 EBEFA (1) t=10cm RC-40 3.00 1,340 4,020
m2

191 EBERR (2) t=10cm RC-40 2.00 3,239 6,478
m2

192 N\ FR—ILERE (1) TLF v X b RR—ILBE (ZET) 3.00 37, 240. 00 111,720
=

193 N\ FR—ILERE (2) TLF v X b RR—ILBE (#ET) 2.00 90, 840. 00 181, 680
=

N FR—ILD 512, 020

194 #MH& TLF v X b RR—ILDE (#EH) 1.00 418, 600. 00 418, 600
=

195 EHA t=10cm RC-40 4.00 1,340 5, 360
m2

196 /N> FR—ILERE TLF v X b RR—ILDE (EM) 7.00 12, 580. 00 88, 060
=

BET 13,073, 689

MERELT 1,709, 164

HEMUIE T 10,172

197 7R 7 7 )L &R YIET (1) t=15cmA 4.00 603.5 2,414
m

13




BENRE SHCEELAMERBERERAMERTE

% R R - BARSTiE BfL % 8 B ® # m o=

198 727 7 )L b &R Y #T (2) t=15cmA T 6. 00 1,293 7,758
m

FEMBET 1,372,592

199 7R 7 7 )L ERZERRERRE (1) t=15cmLL 1,310. 00 191.3 250, 603
m2

200 7R 7 7L A MBERE (2) t=15cmLLF 1, 000. 00 502.9 502, 900
m2

201 7R 7 7L FERER (1) M IERr— 0515 66. 00 4,834 319, 044
m3

202 7R T 7L ERER (2) HIE—RES 50. 00 3,309 165, 450
m3

203 7R 7 7L bxiEA RiE%5 50. 00 271.9 13,895
m3

204 7R T 7L ERER () REZ-L5 15 50. 00 2,414 120, 700
m3

nsrE 326, 400

205 72770 bk S E (t) 272.00 1,200. 00 326, 400

t

BEYRET 11, 364, 525

SRMEET 2,722,052

206 HEMEE (1) S BLH=1. 8m (H A ) 498. 00 760. 70 378, 828
m

207 SEAMEE ) S BLH=1. 8m (H A ) 664. 00 2,282.00 1,515,248
m

208 #EFHIVYY-FERIE L (1) 7 ny) 15.00 8, 464. 00 126, 960
m3

209 #EFHIVYY-FERIEL (2) 7 ny) 19.00 12, 630. 00 239,970
m3

210 EHa 20 ) — MERk (1) L& 15. 00 2,414 36,210
m3

211 EHHa V0 ) — MiBk (2) L& RES 19.00 1,792 34,048
m3

14




BEANRE

SHCEELAMERBERERAMERTE

4 [ IR - WAKTiE B = i & 5 =
212 |EEa 25 ) — FRIER RES 20. 00 277.9 5,558
m3
213 |EHO >0 ) — FEHERE Q) REH—L5 15 19. 00 2,414 45, 866
m3
214 25 5y FHiER - fE (1) BIEFR—RES 7.62 8, 885 67,703
t
215 249 5y THiER - F#E () BIEFR—RES 10.17 23, 670 240, 723
t
216 295 v TH &Rk () BIER—RES 7.62 891.8 6, 795
t
27 295y THERK Q) BIER—RES 10.17 2,374 24,143
t
HEHIALT 8,026,073
218 o>y J— REIEL (D @150 L=1, 432mm 29. 00 53, 885. 86 1,562, 689
=R
219 o> 51— REIEL () @150 L=4, 520mm 31.00 202, 727. 21 6, 284, 545
=R
220 #kFo o ) — FEUIEL #EEaO)—+ 9.00 16, 880. 00 151,920
m3
221 # Mo > o ) — FRERR BIER—0 15 9.00 2, 991 26,919
m3
PIY 80, 000
222 |EHOVY ) — FROSE 78.00 800. 00 62, 400
t
223 #MHa VY ) — FROSE 22.00 800. 00 17,600
t
EUIVEEILZ L FIE 536, 400
224 BINEEIL R ILFIE 1.00 536, 400. 00 536, 400
m3
H&mT 622, 468
H&mT 622, 468

15




BENRE SHCEELAMERBERERAMERTE

% L IR - WAKTiE B B = B {f oo ) S

HEET 622, 468
225 3@FWRAt TEEB 6, 020. 00 103. 40 622, 468

m2
KRBT (FAtiER) 6, 636, 800
REET 6, 636, 800
%15 E i 762, 100
226 {RERIZEAMRE - BH= H=2. 5m 20. 00 38, 105. 00 762, 100

m
KET 5,874, 700
221 & V7 RE-HE () 4.00 88, 550. 00 354, 200

AT
228 & V7 RE-HE () 1.00 242, 500. 00 242,500

AT
229 V7 #HEK (1) 0~40(m3/h) ki MEIBH x4EF 364. 00 10, 050. 00 3, 658, 200

=]
230 # V7" #HEK (2) 0~40(m3/h) ki MEIBHXI1ER 91.00 17, 800. 00 1,619, 800

=]
BFKIERET 9, 060, 675
REET 3,899, 394
T8 - YT 3,899, 394
FES 3,394, 900
231 $AKREA (Nmax=50) SARARIME L=7.0m 80. 00 25, 340. 00 2,027,200

®
232 XSk E SARARME L=7.0m 80. 00 7,760. 00 620, 800

®
233 MEXMEASIREEIER - BBIE () EAE 1.00 145, 200. 00 145, 200

[B]
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4 L IR - WAKTiE B B = B {f oo ) S
234 REXMEASIREEIER - 8BIK Q) SI13kEE 1.00 60, 500. 00 60, 500
[B]
235 SR ER fHRIRIME  L=7.0m 80. 00 6, 765. 00 541, 200
Li'e
PR -EEL 504, 494
236 t1R-RE LRE 6. 66 31, 920. 00 212,587
t
237 YR -IEE LEE 6. 66 19, 100. 00 127, 206
t
238 Y1 - ERLEH H-300. H-350 6. 66 24, 730. 00 164, 701
t
BT 369, 159
T 369, 159
E¥ELT 369, 159
239 RRiEY (1) URERELEL. EEDEL 70. 00 247.6 17,332
m3
240 KRiEY (2) UREELAY. BEWEY 120. 00 509.5 61,140
m3
241 BRL AL, Im=W1<4m 130. 00 1,928 250, 640
m3
242 LEYEEW BIBF— T WRES 50. 00 552.5 27,625
m3
243 EEEIE 27.00 460. 1 12, 422
m2
BFKIERET 4,792,122
BFKIERET 4,792,122
H@T 288, 658
204 HWERE t=20cm RC-40 27.00 1,616 43, 632
m2
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£ b R - AR B #H = B @ & # =

245 BEBEa L) — REIR 8.00 9,222 73,776

m2
246 BB o) —k 18-8-40 (& 4F) W/C 60% 5.00 34, 250 171, 250

m3
BT KFET 4,503, 464
247 HEE PAVE RPN P/ | 1.00 3,405, 140. 00 3,405, 140

=
248 HEILFIL 1:3 t=2cm 0.40 95, 810 38,324

m3
249 BPKIEERE 1.00 1, 060, 000. 00 1,060, 000

=1
HERSEEFEL) 72,618,071
HEREE 72,618,071
HiBREEE 72,618,071
EiRE 1, 341, 491
BESBWMOMRELE 948, 200
250 EEEMM S FEIISEE Nyhiby 1 4m3k (11E18) 2.00 474,100. 00 948, 200

=
{REEH B E 393, 291
251 {REEMIEA A BUEN L& SRRIE - \LBEH 40. 05 3,000. 00 120, 150

t
252 {RE&HHERE fHRMRIME - (LBE#HF 40. 05 6, 820. 00 273, 141

t
£HEE 65, 191, 780
RIBE 33, 852, 880
253 REBE) t=10cm 10, 000. 00 530.6 5, 306, 000

m3
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254 RTBE Q) t=10cm 1, 600. 00 902. 4 1,443, 840
m3

255 TRMEEM (1) &R0 5 10, 000. 00 2,210 22,100, 000
m3

256 TRYEEM(2) EI&Em—RES 1, 600. 00 683.8 1,094, 080
m3

257 REIHEA THRES 1, 600. 00 233.1 372,960
m3

258 TRYEEM Q) THRESZ 0D E 1, 600. 00 2,210 3,536, 000
m3

no#& 31, 338, 900

259 Rt HE 11, 607. 00 2,700. 00 31, 338,900
m3

g 6,084, 800

REEBAE 6,084, 800

260 1= 1, 000kW x 4~ 6T 1.00 5, 235, 000. 00 5, 235, 000
=

261 1ZyeH 400W x 24T 1.00 849, 800. 00 849, 800
=
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HERERE GDH 72,618,071 + 24,907,641 + 1,805, 259 99, 330, 971
HBRBE (FEL) 72,618,071
HBERER (R) 532,214,569 x 4.68% ((4.54%) x 1.03) 24,907, 641
RSRERES 515,788,554 x 0.35% 1,805, 259
RisEEER 600, 206, 640 x 23.64% ((22.73%) x 1.04) 141,888, 849
T=Rfl 516,194,954 + 241,219, 820 757, 414, 774
—REEES 742,005,489 x 12.76% (12.76% x 1.00) — 2,996 94, 688, 388
LHIRIE 742,095,489 x 0.04% 296, 838
THilts 757,414,774 + 94,688,388 + 296, 838 852, 400, 000
HERSELE 852, 400,000 x 10.00% 85, 240, 000
HATIRE 852, 400,000 + 85, 240, 000 937, 640, 000
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FHE—IEWHE Tl BERIEEIR I L BME - AL
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&5 : 226
£ REEIGEAMERE - #HiE  H=2.5m 20m% Y
2 b g - BIRTE L= vd = B oO(f ® % # " =
TAR—ARHEER
A 1.000 91, 350. 00 91, 350
LTEEXE
A 3.000 68, 990. 00 206, 970
oYY (U L—VEEMEEGERFIERA 4t ~45tH 2.9tA
i)} B 1.000 94, 564. 00 94, 564
RELMREEMER (10mZ 1Y) H=2.5m
#HHEE 30. 000 10, 000. 00 300, 000
EME (E+EDLDH) £ NOY)
% 10. 000 692, 884. 00 69, 216
& Hi 1YEZHES : 20.00m 38, 105. 00 762,100
FHEEENEE - HY THIERS - EiEfEE (1. 500]
FHE—EWHE T L EERASIFIIC L DMWIE - HY [2.00] EEEE
&5 : 227
£ K V7 RE-BE ) EGIER
2 b g - BIRTE L= vd = B oO(f ® % # " =
TAR—ARHEER
A 0. 500 30, 450. 00 15, 225
HIHRIEXS
A 0. 100 26, 880. 00 2,688
LTEEXE
A 2.000 23, 000. 00 46, 000
N ik EEr
B 0. 500 49, 260. 00 24,630
HHE (F50)
= 1.000 88, 543. 00 1
& Hi 1YEZHEN 1. 00 FRr 88, 550. 00 88, 550
T EE L
FHE—EWHE T L EERAOFIRIIC R BHWIE - &L
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&5 :228
£ K VT RE-BE Q) EGIER
2 b g - BIRTE By H = B oO(f ® # " =
TAR—ARHEER
A 0. 500 91, 350. 00 45, 675
HIHRIEXS
A 0. 100 80, 640. 00 8, 064
LTEEXE
A 2.000 68, 990. 00 137, 980
N ik EEr
B 0. 500 101, 400. 00 50, 700
HHE (F50)
= 1.000 242,419. 00 81
& Hi 1YEZHED - 1. 00 FRr 242, 500. 00 242,500
FHEEENEE - HY THIERS - EiEfEE (1. 500]
FHE—REMWE : TL B AEIRIIC X BHIE - HY [2.00] EEEE
&5 : 229
B K V7 HEK(A) 0~40(m3/h) R FET B x AEFR IEED)
2 b g - BIRTE By H = B oO(f ® % # " =
HIHRIEXS
A 0. 140 26, 880. 00 3,763
TERKFH V7 &
B 1.000 502. 00 502
HRENFKEWE R
B 1.000 5, 498. 00 5, 498
EME (E+FEHH)
% 3.000 9,763.00 281
& Hi 1E%HEH - 1.008 10, 050. 00 10, 050

FEEMSEE L
FHE—IEWHE : TL

ErfROHIFIC & B4 - 1L
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&5 : 230
BN VT HEIK Q) 0~40(m3/h) R FETBH < 1T 1B4Y
£ 5 g - BIRTiE BAf % = B & # = & &
BREx£a
A 0. 140 80, 640. 00 11, 289
TIERAKPF V7 Ekr
B 1.000 502. 00 502
REREHERL
B 1.000 5,498. 00 5, 498
HME (E+FDHH)
% 3.000 17, 289. 00 511
& Hi 1E%HEH - 1.008 17, 800. 00 17, 800
FEEMNEE HY FHIERRE  EiEIERE[1.500]
FHE—IEWEE 2L ERIEEIRIC L ZMWIE - HY [2.00] EiEiEE
&5 : 231
B HRIREA (Nmax=<50) $AEXIRME L=7.0m 10824 Y
£ 5 g - BIRTiE BAf % = B & # = & &
TAR—AgtHEER
A 0.526 30, 450. 00 16,016
BREx£a
A 0.526 26, 880. 00 14,138
U
A 1.053 28, 350. 00 29, 852
HEXMIEAS HhiikEEr
B 0.526 175, 200. 00 92,155
MITH A5 1y MEEg
B 0.526 73, 860. 00 38, 850
II7V-09V-03E R
B 0.526 83, 000. 00 43, 658
HME (E+FDHH)
% 8. 000 234, 669. 00 18, 731
& Hi 1YEZHES - 10. 004K 25, 340. 00 253, 400
FEEMESNEE L
FHE—IEEE : 2L EEREAEIFIIC K ZHIE - B L
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B 232
% HXRREIRE MRROE L=7.0m 108 Y
£ b g - BIRTE BT H = it ® # " =
TAR—ARHEER
A 0.208 30, 450. 00 6, 333
HIHRIEXS
A 0.208 26, 880. 00 5, 591
LU
A 0.417 28, 350. 00 11, 821
HEXMEAS k&
=] 0.208 175, 200. 00 36, 441
FIFV-VhV-sEER
=] 0.208 83, 000. 00 17, 264
HMEB (E+FEDH0)
% 0. 200 77, 450. 00 150
& &t %8 - 10. 00%% 7, 760. 00 77, 600
T EE L
FHE—IEWHE Tl BRSO EIR (= & BAEIE - 1L
&5 233
£ RERXMEASIREEEN - B2K (1) EAR HEED
£ b g - BIRTE BT H = it ® # " =
TAR—ARHEER
A 0. 500 30, 450. 00 15, 225
HIHRIEXS
A 0. 500 26, 880. 00 13, 440
LU
A 1. 000 28, 350. 00 28, 350
HEXMEAS HhiikEEr
A 0.290 175, 200. 00 50, 808
FIFV-VhV-sEER
A 0. 450 83, 000. 00 37, 350
HHE (F50)
=® 1. 000 145, 173. 00 27
& &t fE%8EH : 1.00E 145, 200. 00 145, 200
T EE L
FHE—IEWHE : TL BRSO EIR (= & BRI - 1L
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&BE 234
£ RERXMEASIREEES - AR (2)  S3REF HEED
£ b g - BIRTE L= vd = B O %8 # " =
TAR—ARHEER
A 0.190 30, 450. 00 5,785
HIHRIEXS
A 0.190 26, 880. 00 5,107
LU
A 0.390 28, 350. 00 11, 056
HEXMEAS k&
B 0.130 175, 200. 00 22,716
FIFV-VhV-sEER
B 0.190 83, 000. 00 15,770
HHE (F50)
= 1.000 60, 494. 00 6
& Hi 1YEZHEH - 1.00[E 60, 500. 00 60, 500
T EE L
FHE—EWHE T L BERAFIRIIC R HHWIE - &L
&5 235
2% HRREN MRRDODTE L=7.0m 1%y
£ b g - BIRTE L= vd = B O %8 # " =
MRk EH m# L[=7.0m
t 0.420 2,970.00 1,247
MRk BEERUVERE
t 0.420 13, 140. 00 5,518
HHE (F50)
= 1.000 6, 765. 00 0
& Hi 1YEZHED 1. 008 6, 765. 00 6, 765
T EE L
FHE—EWHE T L EERAOFIRIIC R HHWIE - &L
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&5 : 236
2% UIR-ERELEE 10tHY
2 b g - BIRTE BT H = B oO(f ® # " =
YRR LEE
t 10. 000 31, 920. 00 319, 200
HHE (F50)
= 1.000 319, 200. 00 0
& Hi 1E%HEH 0 10.00 t 31, 920. 00 319, 200
T EE L
FHE—EWHE T L BERAOFIRIIC R AHWIE - &L
&5 . 237
2% IR LEE 0tHy
2 b g - BIRTE BT o = BHO(f ® 5 # " =
IR -fERE LEE
t 10. 000 19, 100. 00 191, 000
HHE (F50)
= 1.000 191, 000. 00 0
& Hi 1E%HEH 0 10.00 t 19, 100. 00 191, 000
FIEEEMIEE L
FHE—EWHE T L BERAOFIRIIC R BHWIE - &L
&5 : 238
&% YR - BELEH H-300. H-350 1t34Y
2 b g - BIRTE BT o = BHO(f ® % # " =
maLLEH B H-300. H-350
t 1.000 3,120.00 3,120
HRz88 (LB EEH) EEERVERE
t 1.000 5,123.00 5,123
FEE (A) BH H-300. H-350
t 0.220 9,235.20 2,031
EEH (A) BEERVERE
t 0.220 10, 622. 00 2,336
EEH (B) BEERVEREE
t 0. 040 303, 000. 00 12,120
HHE (F50)
= 1.000 24, 730. 00 0
& Hi 1E%REN :1.00t 24, 730.00 24,730
T EE L
FHE—EWHE T L EERAOFIRIIC R BHWIE - &L
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&5 : 239
£ BRIEY (1) UIRBEELEL. BEEMEL Tm3%Y
2 b g - BIRTE BT = it ® % # " =
KiIEY (1) UIRBELEL. BEEMEL
m3 1.000 247.6 247.6
& &t {E%8EH : 1.00m 3 247.6 2476
T EE L
FHE—EWHE T L BERAOFIRIIC R AHWIE - &L
&5 : 240
£ RKIEY (2) UIREELEY. BEEMEY Tm3%Y
2 b g - BIRTE BT = it ® % # " =
KIEY (2) URBELEY. BEEMEY
m3 1.000 509.5 509.5
& Hi 1E%HEH : 1.00m 3 509.5 509.5
FIEEEMIEE L
FHE—EWHE T L BERAOFIRIIC R HHWIE - &L
&5 241
£ EBREL RAL. In=W1<4dm Tm3%HY
2 b g - BIRTE BT = it ® % # " =
HRL AL, Im=W1<4m
m3 1.000 1,928 1,928
& Hi 1E%HEH : 1.00m 3 1,928 1,928
T EE L
FHE—EWHE T L BERAOFIRIIC R BHWIE - &L
&5 : 242
& TREER RIS LTMRES Tm3%Y
2 b g - BIRTE BT = it ® % # " =
TR EER EIH— T REDS
m3 1.000 552.5 552.5
& & EZ4eH : 1.00m 3 552.5 552.5

FEEMSNEE L
FHE—IEWHE Tl

B ROHIFIC & BHEIE - 1L
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&S . 243
&% EmEE Tm2%Y
2 b g - BIRTE By = il ® % # " =
HEEEE
m2 1.000 460. 1 460. 1
& Hi 1E%HEH : 1.00m 2 460. 1 460. 1
T EE L
FHE—REMHE : TL BRI AIFIRIC K BMIE : AL
&S 244
&% . EBEEPMA  t=20cm RC-40 Tm2%Y
2 b g - BIRTE By = il ® % # " =
HEEERA t=20cm RC-40
m2 1.000 1,616 1,616
= it YEEREN :1.00m 2 1,616 1,616
FIEEEMIEE L
FHE—REWE : TL BRI AIFIRIC K BMIE : AL
&S 245
&% Koo —rER Tm2%yY
2 b g - BIRTE By = il ® % # " =
a1 — R
m2 1.000 9,222 9,222
= it YEZEREN : 1.00m 2 9,222 9,222
T EE L
FHE—REMWE : TL BRI AIFIRIC K BMIE : AL
&S . 246
&% EEars)—+ 18-8-40(F%F) W/C 60% Tm3%HY
2 b g - BIRTE By = il ® % # " =
HEaro)—+ 18-8-40 (F%F) W/C 60%
m3 1.000 34, 250 34, 250
& &t {E%8EH : 1.00m 3 34 250 34, 250
T EE L
FHE—REWE : TL BRI AIFIRIC K BMIE : AL
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&5 . 247
B MEEB TLX v R MEFKE 14y
2 b g - BIRTE X = B ® # " =
TLx v X MITKEE 6600 % 2600 x 2400 (40m3%Rk)
= 1.000 3,239, 000. 00 3, 239, 000
T UR—ILE ¢ 600 (T-25) fZE HEZIEN
= 2.000 83, 070. 00 166, 140
& Hi 1E%HeH - 1.00K 3, 405, 140. 00 3, 405, 140
T EE L
FHE—REMHE : TL BRI AIFIRIC K BMIE : AL
&5 . 248
& BELAZIIL 1:3 t=2cm Im3%y
2 b g - BIRTE By = B ® % # " =
HELAIL 1:3 t=2cm
m3 1.000 95,810 95,810
& Hi 1E%HEH : 1.00m 3 95,810 95, 810
FIEEEMIEE L
FHE—REWE : TL BRI AIFIRIC K BMIE : AL
&S : 249
& FPKIERE 1E4Y
2 b g - BIRTE By = B ® 5 # " =
BrkiEiEM IS
= 1.000 676, 300. 00 676, 300
Brk#EIEKTE
= 1.000 316, 400. 00 316, 400
BTk BB sRA L &
= 1.000 67, 200. 00 67,200
HHE(FEDHD)
= 1.000 1, 059, 900. 00 100
& Hi 1E%HEh - 1. 00& 1, 060, 000. 00 1,060, 000
T EE L
FHE—REMWE : TL BRI AIFIRIC K BMIE : AL

88




BfR-BEI/\vsr—>

HMEFEILNMEREERERAMERTE

&5 : 250
£F5 . BEESEWMOMBMENREEE Nk 1. 3R (14EER) 1EHY
2 b g - BIRTE BT H = B oO(f ® # " =
HIHRIEXS
A 2.700 26, 880. 00 72,576
SOTL—29L—r [HEEBSIE] 25t BXEHEEIHY
B 1. 400 44,900. 00 62, 860
% 250. 000 135, 436. 00 338, 590
HHE (F50)
= 1.000 474,026. 00 74
& Hi 1YEZHEH - 1.00[E 474,100. 00 474,100
T EE L
FHE—EMHE T L BERAFIRIIC R HHWIE - &L
&5 : 251
£ REMEAAIEILE SRRIE - (LB 1ty
2 b g - BIRTE BT H = B oO(f ® % # " =
EAd. MELE (REMZH)
t 2.000 1, 500. 00 3,000
& Hi 1E%RESN :1.00t 3, 000. 00 3,000
FIEEEMIEE L
FHE—EWHE T L BERAOFIRIIC R BHWIE - &L
&5 : 252
£ REMERE MRRDE - ILEH 1ty
2 b g - BIRTE BT o = BHO(f ® % # " =
EXEEXHB HMER120A 10knE T
t 1.000 6, 820. 00 6, 820
HHE (F50)
= 1.000 6, 820. 00 0
& Hi 1E%REN :1.00t 6, 820. 00 6, 820
T EE L
FHE—EWHE T L BERAFIRIIC R HHWIE - &L
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&5 : 253
&% xEBREON) t=10cm Tm3%HY
2 b g - BIRTE By H = il ® % # " =
FEBREO) t=10cm
m3 1.000 530.6 530. 6
& Hi 1E%HEH : 1.00m 3 530.6 530. 6
T EE L
FHE—REMHE : TL BRI AIFIRIC K BMIE : AL
&S : 254
B REBFEEQR t=10cm Tm3%HY
2 b g - BIRTE By o = il ® % # " =
FEhRE Q) t=10cm
m3 1.000 902. 4 902. 4
& Hi 1E%HEH : 1.00m 3 902. 4 902. 4
FHEENEE - HY IR - EiEfEE (1. 500]
FHE—REWE : TL B AEIFIIC X BHIE - HY [2.00] EEETE
&S : 255
& TREER() BIZEF-055 Tm3HyY
2 b g - BIRTE By o = il ® % # " =
TR E (1) ELER—>0 15
m3 1.000 2,210 2,210
& Hi 1E%HEH : 1.00m 3 2,210 2,210
T EE L
FHE—REMWE : TL BRI AIFIRIC K BMIE : AL
&S : 256
& TREERQ BRIEF-RES Tm3HyY
2 b g - BIRTE By o = il ® % # " =
TRbEER (2) ELER—RES
m3 1.000 683. 8 683. 8
& Hi 1E%HEH : 1.00m 3 683. 8 683. 8
FHEEENEE - HY IR - EiEfEE[1.500]
FHE—REWE : TL B AEIRIIC K HHIE - HY [2.00] EEETE
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&5 : 257
£ KRR ITHREDS Tm3%Y
2 b g - BIRTE BT H = B oO(f ® % # " =
=R1iEA THMRES
m3 1.000 233. 1 233. 1
& Hi 1E%HEH : 1.00m 3 233. 1 233. 1
T EE L
FHE—EWHE T L BERAOFIRIIC R AHWIE - &L
&5 : 258
& TREERQ) LTHRES LN Tm3%Y
2 b g - BIRTE BT o = BHO(f ® % # " =
TrbEE Q) THMRESZ LS5
m3 1.000 2,210 2,210
& Hi 1E%HEH : 1.00m 3 2,210 2,210
FIEEEMIEE L
FHE—EWHE T L BERAOFIRIIC R HHWIE - &L
&5 : 259
W RTUOnE 100m3 %Y
2 b g - BIRTE BT o = BHO(f ® 5 # " =
nne T8 (R1)
m3 100. 000 2,700. 00 270, 000
& Hi YEZERES : 100.00m 3 2,700. 00 270, 000
T EE L
FHE—EWHE T L BERAOFIRIIC R BHWIE - &L
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&5 : 260
L RIE 1, 000kW x 4~ 64T 1K%Y
£ b g - BIRTE By H = B ® 1 & &
BrE 1, 000W 64T 2t
A 407. 000 9, 600. 00 3,907, 200
23]
L 478. 000 143. 00 68, 354
EEiF (—H%)
A 29.875 35, 280. 00 1,053, 990
23]
L 1,434.000 143. 00 205, 062
HHE (F50)
= 1.000 5, 234, 606. 00 394
& Hi 1EZBER - 1.00 5, 235, 000. 00 5, 235, 000
FHEEENEE - HY THIERS - EiEfEE (1. 500]
FHE—REMWE : TL BRI AIFIRIC K BMIE : AL
&= : 261
AR5 BSeHE 400W x 24T 1%Ly
£ b g - BIRTE By H = B ® 1 & &
i)l 400W 24T
=] 407. 000 1,920. 00 181, 440
23]
L 478. 000 143. 00 68, 354
HHE (F50)
= 1.000 849, 794. 00 6
& Hi 1EZBER - 1.00= 849, 800. 00 849, 800
FHEEENEE - HY IR - EiEfEE (1. 500]
FHE—IEWHE Tl B AEIRIIC K BHIE - HY [2.00] EEEE
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